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PART-A (T - v.»i_z*t) :
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S

5

PART-B (¥ -&%¥)

Q. No. § carries 1 mark each (aky six).......
Q. No. 6 carries 2 marks each (any five) ....
Q. No. 7 carries 4 marks each (any three)..

No. ‘8 carries 6 marks each (any two)....
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. 1 carries 1 mark each (any six).......
. 2 carries 2 marks each (any five)....
. 3 carries 4 marks each (any three)..
. 4 carries 6 marks each (any two) ...

........ 1x6 = 6

Total =40
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. PART-A | %Gt | T-ued [ w-awt
' (Conternporary World Politics)
(e 7y )
C (e RS )
( AT A I Ao

1. Answer anyi six from the following questions : 1x6=6
ﬁwﬁﬂ— © EPTRY A ﬁmm §Ff e Te forat ¢

fsfRe el (¥ m—mwﬁmw G 3

TeEft SFEERE SmEfgsTn Ae TR fer

(a) India is a member state of ASEAN. (Write Yes/No)

ORS R Y A | | (/T R)
w GREEE (ASEAN) 50 AZ1L | &/ @)
R e R e CL/ASRSY,

(b) Who can exercise the Veto’ power in the Security Council ?
WWW@W@WW?{WW?
fatelal AR ‘(ST ! (< AT TS AL
e ST W ¥ A SR T2

(c) Which State is the successor of the Soviet Union ?
s SURTR TR TG R 2
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wfi dify SRR T Sd T e

~ (d) Which country is regarded as the third alternative centre

of world power ?
@ oIt peT Rew #few (Fargm 79 230
oy SR MR e e W TR §E W 2
() Write the full form of SAFTA. |
SAFTA 3 55| o151 foral |;
SAFTA-93 339 Fif6 (et
SAFTA-f1 31q wew =?
(f) Which day is celebrated as United Nations’ day ?
@ Oiffre G e Tvaiom I @ ¢ |
@ frafore afgme e SR a1 282
N TR tﬂens e A mrfmm\‘arm‘r?
(g) Write Yes’ or ‘No’: N B
= Gqeq m foran ¢
N geR A’ @Al
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I gar 7T fer

‘Techriology is an importantt‘phenom'enon of ‘globa_lisation. :

ﬁﬁﬁﬁﬁﬁﬁmmﬁﬁ«ﬁﬁﬁﬂﬁﬁﬁﬁ$ﬁﬂ' |

ergfeRu ﬁmazﬁ% awgald IR
(h) What is Greenhouse gas ?

fraies o o

e S F2

et 7 @ 2

(i) In which year India successfully tested its first nuclear
bomb ? '

I TR TS 2 ARAERR AT TSI A A A ¢

aammmamﬁﬁﬁrﬁaﬁsﬁmﬂamwww
i ' What is the full form of WTO?

WTO 3 55{el o e

WTO-ag 7 TG F12

WTO-f1 319 Agr #1?
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2. Answer any five frorh the following questions : - 2x5=10
ﬁﬁ%mw ﬁm%ﬁ'r oif TeR ol
rafRe emef @ @@ ol avm Sen @Al ¢
(a ) Write the theory of UN which defines the 1nd1genous people
REERI wweae W Ageree fml et e
PN SRS ST APIRET (eT AT @ |
. erff GERE W SOE Tge A AR R
: Oor / #73?7/ </ Tar
- Write short note on : Sacred groves in India.’
: éqm’r%anzwvf@awml
WY Gl (7Tl 3 ©IReed ARE g |
g3 ferer o waft M et o |

(b) Mention any two countries in South of India who are the
members of SAARC.

wwﬁwﬁ%wm@ Riceiz 7<ia st 3188 < for

A\
Wﬁﬁmmﬁv— SAARC-4@ m—mﬁwa@am
@Al

WWfWWSMRCﬁmWWTﬁﬁH
foR |
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(c) Write two causes of disintegration of Soviet Union.
@SB 2R Ao 70 IR Fratl
o'n%m@ 38w e 76 R |
it e TR ek ST
(d) What is meant by South Asia?'
wfaee afeal & 2
wﬁwiqﬁm!amﬁs$1cwm§?
e e S @ 7

'(e) Mention two causes for the failure of stable democracy in

Pakistan. |
IR slrez AR m@mﬁs@ma}@ b1 PR T =0
‘i{@i?ﬂmm moﬁﬁ—@ma}@a 715 il BeEd Al
e i < el ST St ST A ST

() Write the perﬁlaﬁent membey nations of Security Council.
ﬁmﬂ@iﬂﬁﬂmsiﬁﬁVWﬂimEcﬁ%@aam{%mw
fFisrel - sifram 2@ Ty zrrg@%am G |

| %mﬁrngmﬁ(3wmaﬁ)ﬁx€@mfaaﬁhﬁijﬁﬂu
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3. Answer any ethreg 'from ’thé followipg questibns : 4><3=12‘
ﬁﬁ%ﬁ@@ﬁ@% (RF - A 2o B @A 2
e T STARET A e R

(a) Write two arguments in favour of and. two arguments against
Globalisations. “’

e 707 A6 A= 75 (e I
ﬁwrﬁ?ﬁ-ﬁmq«mﬁmﬁmﬁqﬁﬁmﬁm
e e el T T A e A e A

(b) What is the necessity of International Organisation in the

world ? Explain its role.
R ST Aol erarew 5 2 T gl i 4

ey RGN AN F STAEH 2 97 G iyt S |
o \
T 'Y TSR SERM At w2 9f fawE wrEE

(c) Identify the causes of conflict between India and China

and suggest your solutions.

SR | '
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Wmaﬁmﬂmm@ﬁm@ﬁww«amw~

¢

o @

qE™ GIH Bl - | | |

. Or /¥ / 9/ T&r
Write a note on European Union.

TR e eetwe ¢ G A
3@@@2{ IR BAR qﬁﬁm el |
. zawgi SRfuft geE A fergam fer

(d) What is the Balance of Power ? How can a country'rnaintain
this balance ?

AR SR 7 93 T2 T @ ARl I AT
WW%? aﬁm@ﬁmaﬂmmmﬂm AME?

(e) How is .the rglationéhip between India and Nepal ?
TR gai AT TG TTAE el

wrd S SEr ORR SRR TR ?
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4.

Answer any two from the following questions : = 6x2=12

¢

ﬁﬁﬁfﬂr@ﬁrm 2RI Reearl gbr es Ted ol 8

frefie emef (A @@ 5o ot ea @Al ¢

| (a) What is the stands of India for eﬁvirorimental issues‘? :
 offi KB RS SR BRI I ¢

AR TS KA eIren g S

TRl fafreTE YRG TR faEE e ?
Or /%1 Wt/ T

What is the relationship between the rights of indigenous

people and environment ? Discuss briefly.

ReAGT GRS SR ARG e 54 ¢ 2 530 ST
\ B

S ‘ v

T TR S @R SRR W AT Sy AT

A T | -

‘mmﬁﬁmmwﬁmmﬁmm?gﬁwn |
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(b) What is Shock Therapy ? Is this the best way for transition

from socialism to capitalisin ?

WCW@%?WWWWW&W@W
22l wifeE @ 2 | -

& (Shock) c@ﬁﬁ?Wcmmﬁﬁm—éamw
& @b ¢l oret Y e

W?}Tlﬁ (Shock therapy) #17 Wﬁ?ﬂ Tr@fv’ﬂﬁmq
e 3 A e ] A2 |
(c) | ‘What is human schrity ? Discuéé briefly.
sn:m frroral & ¢ 5L SCEABA F|
TR fRsrel e A SITEABA A |

' \
¥d Yt T W2 ged W
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PART-B / 4-5igt / 4-9et [ @-swwt
( Politics in fndia‘ Since Independence)
( PAred e e )

(TIE S AN )
(aaﬁ?aﬁamamaﬁwwﬁer)

5. Answer any six from the following questions : 1x6=6
T PR eSS R B e Ped i 2
e emafd (3w @ 5 oo T @Il 3

mﬁmmmﬁmm

(a) In which year Bharatiya Ja.nata Party was formed ?

TRSR el Wl (IR GAS Ao T (e 2
Wmmﬁ@mm&mwm?.
(b) Which Party won the 1977 General Election ?
1977 WW@R@TWWW
1977 AR W (P 7 TRES P ?
1977 mmﬁﬁmafmaamm%@ﬁm?» |
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(c) Which prlncely state conducted electlon on the basis of

Umversal Adulf Franchise for the flrst time ?
@RI (PR IS am@mmm.mtﬁw TR NfeT SIS
o sRfe tafee ¢
AR . AIRITS (SRR ToT AN (P (P A
Rion e Zrafee 2
- een fife Qef orEE S SR et AR e e
. BT Rt S ? |

(d) Who was the Prime Mmlster of India after Pt. J awarharlal |

Nehru ?
R (A Pize OiRed SiE] PR Sifee 2

G e o1 OTeR AR e
ST A6 S qRafT et Aty WR WA 2
(e) From which year the first Five Year Plan was started ?
@mmwawwmﬁa%ﬂﬁwwt\z@az
I NG (AT 2 T e o
aémasﬁmﬁrﬁmmﬂﬁﬁﬁfamsﬂ?ﬁ?
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() What ifs‘ the full form of EVM ?
EVM 3 55l e{cet fora
EVM-¢g 7} @l ¢l
EVM-f1 37 #8q |?
(g)‘ Who was the «chief architeét of Iﬁdia’s f_oreigh p‘olicy-?
Wmﬁ@ﬁﬁﬁiﬂ}zﬂ%ﬁﬁ{%mm T
wrren R Tfes 30 2RA I @1 7
At TEA Eﬁtﬁ aifefy ﬂﬁ a:r@rarﬁﬁ e Rl a'réﬂ?
(h) When was Sikkim merged W1th Indla? \‘
e cofomt oo v B e ¢
(i) Who was the first nonfCongress Prime Minister of India ?
v s v el o e 7
SRTSR AL TR 'a&ﬂ#@@ ﬁi—c«w
e e SRt 7 TR AR WA
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() When was Assam Movement organised on foreigners’

issue ? |
Runlt ST T P SR Gl e Cafee
RorfR ST FCH SR HCem I FRol5o 2t |
g@ﬂiﬁﬁmﬁﬁmw¥smmqﬁmﬁmmmarmaﬁsmmmmxaﬁMH?
‘6. Answer any five from the following questions : 2x5=10
o ePITIZR S e Asor ed Ted el ¢
FafRe eefd (T @A A AR TSR Tl ¢
TeTfy WA St A e
(a) Explain the concept of ‘whip’. N
SRl {ROICHT I T
Whip’ €i7elS 11 31|
. ‘Whip’ marfa@ hIRAM |
(b) Write a short note on : Whit\élRevolution
57 G fordl ¢ (o Rieie |
e Bl @Al ¢ v f[Rel
i fer : TR Sifgers
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(c/ On which date draft of the Indian Constitution was 31gned
and it came into force ?

—wﬁmﬁﬂmﬁwwwmmimw
| R o 2 |

@M—Tﬁmwmﬁwwwmﬁﬁm\aﬁm'
mwﬁmﬁa

H TR WWWW(W)WWM
ﬁWWW?

(d) Mention two objectives of Nehr;ls forelgn policy ?
A @ Fifes 75! Sre rEd 41
Seef T SR Ere A dife fe)
(¢) Write a note on NDA. |
NDA I $73© ﬁﬁ_cﬁm fevat
NDA-<F v‘a‘ﬁ@ @3 Tl @Al
NDA-f1 |rmE A9 d f‘mgm fer|
() Why was State Reorganisation Commission set up ?
e <R Ao e 7o srow 4l (2fR 2
v SFsfo SG Soe A TR (e
TaS A ST TR e SR 2
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7. Answer any three from the fbllowing questions 4x3=12
frefife emefR @ ol dos Bex st 3 |
TETIT SFAPTERE STfEsTa e e o ¢

(a) How did the fourth General Elections in 1967 change the
- dynamics of Indian politics ?

OReT IO sfoTerers 1967 vva o9d FRe R F
- AfE IRl
SIRTER AN AT 1967 HwR b9 el Fffon Freia

R TSl ErEEEl 1967 AR TR FoRERE

(b) Write four features of India’s coalition goverhment.
TITeT WYE ol 5IPRJ 51170 ATy feran |
SRTSA NS (WIS] A SIAfG (T (TN
Wﬁwﬁaiwnﬁmémmm\l. |

(c) How the problem of Regionalism ca\n be sol{/ed ?
iwleRrorRma I v Faw i onf%9
HfCRFeRIE PG FTOI AL T (TS A ?
st ST T g T2
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Or /%1 / 9T/ T
Giv,e a brief note oﬁ Jammu-Kashmir.
Wwﬁ« esfs «ft (G fora |
TR BT aﬂaff%ﬁaﬁi?@ TRl G|
S SRR mﬁﬁﬂ@r fercgera fem
(d) What were the causes for mid-term election in 1980?
1980 571 SR FioAR e 5 6 Wi 2
1080 I SR ot el F e
1980 mmﬁﬁm@fwmﬂaﬁrﬁmmmm?
Or /% /W% / g |
Who announced Twenty Point Programme and why ?
@Wﬁaﬂﬂﬁﬁ@ mmm@aézw?
< 3 T R PR ST A
(e) 'What is Green Revolution'\P Diécﬁss the economic and

political outcome of Green Revolution.

e Reaa 2 m%@ﬁ%waﬁa%wmmﬁmﬁwwm‘

Sl
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8.

Wﬁméﬁ?wﬁmwﬁwﬁaﬁ m\m%ww
I | . | | .
mmammm?wmwmmmﬁmﬁwm'
qE | '

Answer any two from the following questions : 6x2=12
frfeiie eupiEa o111 Rl 7ot 2 Te fordl ¢

s el care e gl 9T e TN £

. TR HHEERE SEfeerE A R e

(a) When was the Bharatiya Jansangha formed ? Discuss its

ideologies.

OISR TEEIY (TRl ife tafee ¢ TN S RET el 3

mw@awaﬂﬂﬁ@mf%?lﬂémﬁmwmml

sl P ST T 2 3 ST SR
or /AR /A Tw

Analyse comparatively about the nature of Congress
dominance in India. \

TIFES AT WNAATR 2FO TIF QLT Tl SR
wamw@mmwwwﬁmm
w@vwﬁa@mﬁméﬁmﬁﬁ@mﬁl
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(b) What are the main considerations of the merger of Princely
State with United India ? Who played historical role in it ?

Wﬂawmwﬁ@wwww«ﬁ@m%
& ¢ @3 I (I AP SRt G

SIS AIENE Hx AefTe TSP AR REsArER
A A2 @ 7K e o @ FalEr ‘

. fafder o W2 3 TECEE W) MR fowe ARiEe ?

() What is Foreign Policy ? Explain briefly.
e S B 2 BT T = |
e TS Fhe FCwA It I
A TgSR @iferEn W2 ged B |
| Or /7fZal/ %t/ T
Write a note on noh—alignment in India’s foreign policy.
SR TR S () RSl T @ o B
ORTeR AR TS (NSRSl TR @ B

YAt T E’I‘ﬁ%‘Tﬁ.‘@Tﬁ%lﬁ e Mfa @fg (Non-alignment)
- dmRe wrEEE fer |
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